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04 JIZH2EHSES 9,108 8,020 1,088
OYsSIARNA JI2H 22X 212 9,108
—-Je3 33,3008+ 1042 <2 6,927
2 4,554
2 2,373
-R28Y+¥ 33,3008 #21 2«2 1,399
—sHEEE 782
201 Yere ) 2,802 2,266 626
2 1,446
2 1,446
02 Bz 2,802 0 2,802
O¢aHH FX24 2,802
=2 1,446
2 1,446
MEE 2 SHIGYS 14,000 15,354 A1,354
=2 7,000
2 7,000
101 Q12| 5,762 4,530 1,232
2 2,881
= 2,881
04 JIAR2ERSES 5,762 4,530 1,232
ONZEEY ¥ SIS 29 0% 5,262
—-Je3 33,3008 +70L x2 4,662
2 2,331
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SN OlEEER

M sYll= HgES
el IFE i)l N CEREE
] _ _ PIEL=
A -3 -H2A(SH) - HEAMY - BES O AFH bﬂ/l\_w” Hos
= 8,000
402 QI2bE0lM 16,000 0 16,000
= 8,000
= 8,000
01 CI2IXt=2E X 16,000 0 16,000
OANEA MATISS L 2t=2tH| AlY
8,000,000% x2J £ 16,000
= 8,000
= 8,000
SEEN2 MBS Z2RHE AY 25,000 0 25,000
= 12,500
= 12,500
402 QI2HRE0lH 25,000 0 25,000
= 12,500
i 12,500
01 QIZIRI2E X 25,000 0 25,000
OS8&s 433 Z2HE AY
25,000,000 19 & 25,000
= 12,500
i 12,500
AHHIOH &S AIE 13,380 0 13,380
101 el | 3,330 0 3,330
04 JIZtMIZ22XsSE=+ 3,330 0 3,330
OAHIHIOH HMASE 2HAEY
33,300 108 10 3,330
206 M= dl 10,050 0 10,050
01 Mz Hl 10,050 0 10,050
OAHHIOFH MIS=27E 10,050
—GHAIHIE 200,000 *53| *30H 2 20 K| 2 6,000
—AHHIOF ElHIE 12,0003 *100ZE*300 & 3,600
—AHHIOF 2 50,0002 33| *3IH & 450
o222 & ELEAFH XA 200,000 0 200,000
= 100,000
= 100,000
405 Xt&bE SHI 200,000 0 200,000
= 100,000
= 100,000
01 MHARESF =M 200,000 0 200,000
OsASHMEEN Y EAEAEH 2L 200,000
— UM IAZ20tEdeHO
150,000, 000% * 1= 150,000
= 75,000
= 75,000
—=224)] 2 50,000,000 *1 = 50,000
= 25,000
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FH: sg)|l= HEES
telr DSE Midl=s A& (ctel: &
_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
i 25,000
Y E& HIJISGHSATHEE AlE 50,000 0 50,000
< 25,000
= 25,000
402 2I2H X =01 50,000 0 50,000
= 25,000
= 25,000
01 BIZPGEEX 50,000 0 50,000

OdY =& HIDIEGHS AT AIHXIR
62,500,000 *1JH 2= +80% 50,000
S 25,000
= 25,000
ALAEE 24 165, 123 212,497 NAT,374
AR ®E 29 165, 123 212,497 NA4T7,374
101 1A H] 67,064 76,463 29,399
04 JIZHMIZ2XNSE =+ 67,064 76,463 A9,399
OAMIIAIEE At 22| (EgelL) 53,250
—dF 35,5003 x25&4 20H 17,750
— X5t/ = 35,5003 *30& «20 & 21,300
— Attt ==t 35,5003 *20 «10¥ 7,100
—ElHlI/BlIE A& 35,5003 20 <10 7,100
OAROIBE =<0 33,3003 12 +20H 7,992
OJIZFMZ 2 X+ 24l 3,000& x152 *70H 3,150
ONEMUNEE = 2,672
201 Let2EH] 6,100 26,000 219,900
01 AtR2teld] 2,500 14,000 A 11,500
os 2,500
02 3224l 3,600 12,000 A8,400
OsH 3,600
202 Oddl 3,500 4,000 A500
01 =LHOYI 3,500 4,000 A500
OH=X%E Jl=HeEXNE 3,500
206 M=l 88,459 106,034 A17,575
01 M=Hl 88,459 106,034 A17,575
OAMIAIEE 222 65,555
—= 250,000& *112] *8ha 22,000
—ElHl 5,000& *700 X *8ha 28,000
—Hlg, 28,9 110,000& *10=2] *8ha 8,800
—&dEER 55,0002 *3&+7HI E 1,155
&Y=, AYst S 100,000& «2Z+8M E 1,600
—sJIAH B3 #dl 400,000& = 10CH 4,000




A Jl=gE2

HE: sedls Heea
Sl AIDAEE 29 (25 &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
ONEE 29 25 8,304
—=o18 17302 ¥3002] Ef x2 2 *8CH 8,304
OAOIHE 2% M2 12,600
—EFYA 7Y 1,8002 %1, 5002 44 0,800
—ADE(HOIT, HH S) 1,20081,500%F 1,800
OJIEt 2YARE 2,000
SR2E M 494,426 294,570 199,856
= 67,213
=l 252,000
2 175,213
Basss sy 20,000 0 20,000
= 10,000
2 10,000
402 QIR 20IH 20,000 0 20,000
= 10,000
2 10,000
01 PIAX=EE 20,000 0 20,000
Onax=s suve Iz
20,000, 00021 %174 2 20,000
= 10,000
= 10,000
NIlED SSX 2 0,000 0 10,000
= 5,000
2 5,000
101 124l 999 0 999
= 500
= 499
04 JIAH2EZXHES4 999 0 999
OMIIz=ei7 29 2% 33,3002 %302 999
= 500
= 499
201 Yer2 Yyl 1,274 0 1,274
= 637
= 637
01 A2l 1,274 0 1,274
OHZ2DMN HE S 1,274
=2 637
2 637
202 Oit| 1,000 0 1,000
= 500
= 500
01 2UoiHl 1,000 0 1,000
OMIIZeT 28 X2 +3
20,0002 252 %2 1,000
= 500
2 500
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Hu: =od|z Heea
el gmE2E MAeT (B9 &2
_ _ HE T
SN YO (BH) - MBAY - BYS Ofl &F o4 il i~ o HRs2
206 T2l 6,727 0 6,727
=2 3,363
2 3,364
01 M=l 6,727 0 6,727
OMIIEe? BS 292 7Y 6,727
= 3,363
2 3,364
ST2E MADX FH 104,426 54,570 49,856
= 52,213
2 52,213
402 QI2HXH2O0|H 104,426 54,570 49,856
=2 52,213
2 52,213
01 PIAR=EE 104,426 54,570 49,856
OHZ2E MMLT S4
104,426, 0002 #1794 A 104,426
=2 52,213
2 52,213
N =ASHSIAIY(DEE DA TRHE) 360,000 240,000 120,000
=l 252,000
2 108,000
201 Y2 Y| 15,000 40,000 A25,000
01 AFR 22/t 15,000 40,000 A25,000
ODNEXN Ja M4 Ho3 29
1,000,0002! 53] 5,000
OFLAD OIHY & 10,000
307 212H0IH 90,000 20,000 70,000
02 IABABE 70,000 0 70,000
OMNBER B2l B8 ¥ 2AHE
0,000,00024 %174 4 70,000
04 RIAHAIBE 20,000 20,000 0
ODEN BASE HAIX 20,000,008 *13] 20,000
402 QI TH20|H 255,000 165,000 90,000
3 252,000
2 3,000
01 PIAR=EE 255,000 165,000 90,000
ODEE MBML B©X F4
100,000,000 *17H A 100,000
3 100,000
ODEXE AT SE0BIE  90,000,0008 %17 A 90,000
3 90,000
ODEE AT HE L XHAHHH 7=
65,000,0002 174 2 65,000
3 62,000
2 3,000
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M sl HEES

SHol: ASES ol (erel: @ 2
_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE

ASHE Rl 305,729 1,109,260 803,531
= 30,000
z 275,729

WEZY BaBelA 29 BHGE A 10,000 7,500 2,500
= 5,000
= 5,000

101 Q1244| 9,108 0 9,108
= 4,554
= 4,554

04 JRAM2EXSE 4 9,108 0 9,108
OFEBAZMBRIA 29 BF 9,108
S EE 33,3008 * 1042 +2% 6,927
= 4,554
= 2,373
-—R25Y4g 33,3009 +21 2 %2 1,399
—sHREe 782

201 Ygr2y| 892 7,500 16,608
= 446
= 446

01 A22t2IH| 892 2,500 A 1,608
OFsAZLMBRIA 2Y 892
= 446
= 446

OIZ4N SHAQIAZFYI| HE AlY 50,000 0 50,000
= 25,000
= 25,000

402 QIR0 H 50,000 0 50,000
= 25,000
= 25,000

01 QIARp=RE 50,000 0 50,000
OBtaQIAIZ= QDI X & 50,000,000 %174 £ 50,000
= 25,000
= 25,000

AEHFSHHNALE 2 225,529 0 225,529

101 Q124H| 4,029 0 4,029

04 JRAM2EXS 24 4,029 0 4,029
OFSASRIMAAL AlAE 220 4,029
SR 33,3001 *12+90 2,997
-—R25Y4g 33,3002 * 12§+ 18 600
—slREE 432

201 Ygr2y| 33,000 0 33,000

01 AtR2telt| 28,000 0 28,000
Oz 28,000
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02 ss2494l 5,000 0 5,000
Oz 5,000
202 (4 i 3,000 0 3,000
01 =2 3,000 0 3,000
Or&SA=LI=XNE 3,000
206 i ZHl| 167,500 0 167,500
01 M=Hl 167,500 0 167,500
O EASsHMAZAIE HE 167,500
—SE0MIIZFFL 264,000& *100E 26,400
— e NI 900, 000& x29& 26,100
— AR (Mrs Broth) 2 =X&{ ¢
150, 000& 405 * 1094 60,000
~SET(HEARS) 2 2Y 2
4003 *137,500kg 55,000
405 XH&HFE SHI 18,000 0 18,000
01 AL =EF SHI 18,000 0 18,000
OE#ANSEIIE 7Y
18,000, 000& = 1CH 18,000
AN E43 =2 A5 AlIE 12,200 0 12,200
201 Et2a | 6,200 0 6,200
01 AtS22teldl 6,200 0 6,200
OsNH 6,200
206 i =Hl 6,000 0 6,000
01 M=ZHl 6,000 0 6,000
OasSAEME 2L 3,000,000 *2JH &~ 6,000
St Al JIsd AtE e 8,000 0 8,000
201 B2 HH| 2,000 0 2,000
01 AP Zeltl 2,000 0 2,000
Oz« 2,000
206 i ZHl 6,000 0 6,000
01 M=Hl 6,000 0 6,000
OalsAEMas 7 5,000& *2& *x600kg 6,000
SsEMeE 53 & 941,760 1,070,592 128,832
= 250,000
= 125,000
= 1,730
& 8,000
7 2 557,030
MEXE AR 6,400 5,900 500
201 LBt29H| 400 2,400 A 2,000
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SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
. (=] T ° . [= Bl e =5 0:”/‘l|_% Lsa
01 AFR22lH| 400 400 0
=o 400
202 ¢4 H| 3,500 3,500 0
01 =Wl 3,500 3,500 0
OMET JlsXls HRF4 3,500
401 A &HIZL 2048 2,500 0 2,500
01 Al&H| 2,500 0 2,500
Os&ESItEH24A &8I SA 2,500
sE 04 M2 54 11,300 19,300 A 8,000
206 M= Hl 7,400 14,800 AT,400
01 M=z=Hl 7,400 14,800 AT,400
oXgdeld 4us M= 3,500
—= MEINLS 10,0003 *23| x50 1,000
—S% MEIHL 10,000 »13] 250 2,500
OMEINE 208 A3 ME 3,900
—RosdE IISUE 10,000& *52| 30 1,500
—sSEWHASE CE0OHA S
10,0003 *23| x30H 600
—dED|SHLE LS 10,000& *62] *30H 1,800
301 L2 AZ 3,900 4,500 A 600
10 At HIE& 3 3,900 4,500 A 600
OMEINE 28 WF ZA+=Y 3,900
—RelsdE IS US 300,000& *53] 1,500
—sE0W4H ASRCE0 A7 300,000& *23] 600
—dED|SHLE WS 300,000& *63| 1,800
sE Y ZHIIAE XA 145,000 130,000 15,000
402 212t XH=01H 145,000 130,000 15,000
01 SI2Zt =2 X 145,000 130,000 15,000
Old=sdase8s XN
100,000, 0002 *2JH 2 *50% 100,000
OJIENSE ZEE & AEER X2
0,000,000 *37H 2~ *50% 45,000
MEDHME B4 7,600 7,600 0
301 LEtEAZ 1,600 1,600 0
10 EALAHIZEAS 1,600 1,600 0
OMEINdS , sgel & - SYH? s B4 1,600
-5 40,000 x20H 800
- 80,000& x10H 800
307 212t01& 6,000 6,000 0
04 CIZFHALE X 6,000 6,000 0
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O 6,000,000 174 | 6,000
SEALY 200,000 100,000 100,000
z 100,000
2 100,000
307 21240 80,000 0 80,000
2 40,000
2 40,000
02 Izt 80,000 0 80,000
Os 0le 84 Ty S A
20,000, 00021 %47} 80,000
z 40,000
2 40,000
402 PI2EXHEZOIH 120,000 100,000 20,000
z 60,000
2 60,000
01 12t 120,000 100,000 20,000
O z
30,000, 0002 *47H 120,000
z 60,000
2 60,000
NI 0125 5 & ol 4,000 4,000 0
= 2,000
2 2,000
307 eIzt 4,000 4,000 0
= 2,000
2 2,000
02 D12t 4,000 0 4,000
OAl SAHNE K
4,000,0002!+13] 4,000
= 2,000
2 2,000
MEIIE DN D 3,460 3,000 460
= 1,730
2 1,730
206 R 1,200 780 420
= 600
2 600
R 1,200 780 420
ons 15,0002 *23] 402 1,200
= 600
2 600
301 Yt 2,260 2,220 40
= 1,130
2 1,130
10 A 2,260 2,220 40
ok 550, 00024 *2CH 1,100
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S EHB .S (BH) - HRAIY - B2 0 AF oA e HDZS2
= 550
2 550
OBEDSE HMT 24 24
7,0002+80% +13] 560
= 280
= 280
O WELA+Y X2 300,000 *23] 600
= 300
= 300
SRAMOIFH NHAY 50,000 0 50,000
2 25,000
= 25,000
402 QI2HXHZO0|H 50,000 0 50,000
z 25,000
= 25,000
01 QAT EER 50,000 0 50,000
O = el 8 21 & B 0| EHI X 2 AN
50,000,000% 17 £ 50,000
z 25,000
= 25,000
SASEEIIZME £ 0z X 500,000 0 500,000
=2 250,000
= 250,000
201 Y2 Hy| 5,500 0 5,500
= 2,750
= 2,750
01 AL 22| 5,500 0 5,500
OsMSEEIZHE 29 5,500
= 2,750
= 2,750
206 T2 5,000 0 5,000
= 2,500
= 2,500
01 XHZH| 5,000 0 5,000
Os4e HADKI2IY Nz P
25,0002 *20& *103| 5,000
= 2,500
= 2,500
301 YA 3,000 0 3,000
= 1,500
= 1,500
10 SAAHIE AR 3,000 0 3,000
OS42 HADKTI2 Y AL
300,0002 12 *103] 3,000
= 1,500
= 1,500
401 AlEZHIZ 20| 486,500 0 486,500
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solg HeEa
SEME G N

I:I}\_I X ZH C|—O|(§Ij;”) }\.“bl}\I,O-I A2 AFOH I|_‘|LI;=|_|‘:_ =2}
. (=] T ° - = (L] 0:”{:'_% S o
= 243,250
i 243,250
01 Al&H| 486,500 0 486,500
OFYIUSE = SHS Marddl X 486,500
= 243,250
= 243,250
AL XA AEA 14,000 0 14,000
& 6,000
= 8,000
402 2I2H X =01 14,000 0 14,000
& 6,000
i 8,000
01 BIAXGEEXR 14,000 0 14,000
O&dcgz st AEXIR
20,000, 000& * 194 A *70% 14,000
& 6,000
= 8,000
HHE2IHH (Ol=gg2) 72,437 161,296 88,859
= 11,582
= 60,855
A2 32,165 25,667 6,498
= 11,582
i 20,583
ol 2| 9,000 9,000 0
203 HRF&H| 9,000 9,000 0
01 J|22SHRF=&HI 3,300 3,300 0
OJ2A2ZHRFEHI(LAE) 3,300
02 HANMMPRF=EHI 1,320 1,320 0
OZAINMHRF&HI 40,0003 33 1,320
04 FN2IHRFAHI 4,380 4,380 0
ORNMZBEHE=AI 4,380
—J|& 350,000& = 12& 4,200
— =0t 5,000& +x3E*12& 180
petEsII=E NE P2 23,165 16,667 6,498
= 11,582
i 11,583
101 el H| 23,165 16,667 6,498
= 11,582
= 11,583
03 RIHAZZA 23,165 16,667 6,498
Oounstd=sll= X 16,809
—Jl2s 37,0003 253 9,361
= 9,361
—J|g=< 9,361,000& 4/ 12& 3,121
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= 2,221
[ 900
—Sa285dg 37,000& 52 1,924
— A2t 6,930 *15A| 2t 12 1,248
— M= 50,000& *12& 600
B PN 37,0003 x15 555
O=sgJlsdlH RI/HYE N8 & MEER 6,356
40,272 135,629 AN95,357
u 40,272 135,629 N95,357
AB2 Y| 18,192 112,989 N94,797
01 AtR2t2lH| 13,520 23,569 210,049
OsH 13,520
S32ZH| 4,672 89,420 AN84,748
O 4,672
04 B 22,080 22,640 A560
=LY 12,000 14,000 A2,000
FHA2ZE SUHAYI 12,000
NG| 10,080 8,640 1,440
OsY sgolagds FHHEY
120,000 x7H = 12& 10,080




